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1 i i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 5 i i TR Tt R T T ERid T T R T ENi 3 T TR —
3[p kv ARG E DG < 0. 0003 0. 0003 < 0. 0003 < 0. 0003 0.0003 meg/0
P| G S T (A (] 0. 00005 0.00005 me/@
5« v v R vz o0 ke M 0. 001 0.001 me/@
6lth B = ok & B 0. 001 0.001 me/0
Ne FROZ Dk ED 0. 001 0.001 me/0
sl Ml 7 v oAb & W 0.001 0.001 we/@
o|iE m§ HE BB = |« 0.004 0.004 < 0.004 < 0.004 0.004 mg/0
10| 7 v fl 44y R v f v T of < 0.001 0.001 < 0.001 < 0.001 0.001 meg/0
LI SIS T I 0.28 0.26 0.18 0. 30 0.31 0.32 0.33 0.21 0. 22 0.17 0. 17 0.19 0.25 me/0
1217 v 2R v o kam 0.08 0.08 mg/0
Bls v 2 xvzowkamn 0. 02 0.02 mg/0
Y (LU S (A 7S S 0. 0002 0.0002 me/Q
L, 4= 4 %4 v 0. 0005 0.0005 me/0
16 ‘/X)_/llz__l’z e R 0.001 <0001 <0001 0.001 me/¢
17| 7 v oa A & v 0.001 0.001 me/@
8F v 7 s omoa oz Fovoy 0.001 0.001 me/@
9|FY 7 5= F L 0. 001 0.001 me/0@
20(~ B a4 B 0. 001 0.001 me/0
21t # | < 0. 060 0. 060 < 0. 060 < 0. 060 0.060 mg/0
227 o =4 B EE|< 0. 002 0.002 < 0. 002 < 0. 002 0.002 me/0
2317 moowm kb A 0. 002 0.003 0. 005 0. 006 0.004 me/0
ulvy 2 v om oEm Om 0. 002 0. 002 0.003 0. 003 0.003 me/0
2617 77 T mx homowm poh o< 0. 001 0.001 < 0. 001 < 0. 001 0.001 mg/0
265 # i < 0.001 0.001 < 0.001 < 0.001 0.001 me/0
27l b ) o~ m 4y 0. 003 0. 004 0.007 0. 008 0.006 me/0
28k V2 v ow E o 0. 002 0. 002 0.003 0. 005 0.003 me/0
20 rry ey 0. 001 0. 001 0. 002 0. 002 0.002 me/0
3007 w ® ko al< 0.001 0.001 < 0. 001 < 0. 001 0.001 mg/0
sifs v s 7 o F o R 0. 004 0. 004 < 0. 004 < 0. 004 0.004 mg/0
20 kK E ok E&? 0.01 0.01 me/0
BTVI=YLR B Z D ED 0.014 0. 026 0. 028 0. 021 0.022 me/0
M| k= 0 b & P 0.13 0.01 < 0.01 < 0.01 0.04 me/0
3Bl K = ok E&? 0. 002 0.002 me/0
36[F M)LK Y ZE O E B 6.05 6.05 me/0
J7frvr v R ZE oA D 0.001 0.001 me/0
3Bl b w4 A v 8.1 7.7 6.9 7.2 7.4 8.0 7.6 7.6 7.5 7.1 6.9 7.1 7.4 mg/0
39[hwyya vrryaEE (B 26.6 26.6 me/0
40|% ¥ %k B 0B 81 81 me/0
Al o 4 v RO IE A 0.02 0.02 me/0
0] VS S S 0.000001{<  0.000001[< 0.000001(<  0.000001 0.000001 mg/0
4312 2 F VAT R MR A =M 0.000001|<  0.000001[< 0.000001[< 0.000001 0.000001 mg/0
44l 4 A v R omE A< 0. 005 0. 005 < 0. 005 0.005 mg/0
4517 =/ — N # 0. 0005 0.0005 mg/0
46[6 1:& L} % 0.8 0.7 0.7 0.7 0.9 0.8 1.0 1.1 0.9 1.0 1.0 0.9 0.9 mg/0
47 PHf 7.4 7.5 7.4 7.4 7.4 7.5 7.5 7.5 7.5 7.5 7.4 7.4 7.5 —
48 LS BERL BERL RBERL RERL BERL BERL BERL RBERL BERL BERL BERL BERLl BEARL -
49| % = BEiL RERL R Rl R BERL REmL WL Rl HWipL RiEmL Rl REsL -
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51[# < 0.1 0.1 0.1 0.1|< 0. 1)< 0. 1)< 0.1 0.1 0. 1)< 0.1 0.1 0.1 0.1 [
Vi = iy # 0.72 0.70 0.72 0.73 0.73 0.78 0.71 0.73 0.81 0.80 0.83 0.83 0.76
5 =) BERL Rl REmL Rl Bl RmL Rl Rl B R RiEmL Rl RERL
; "o Byl BERL BERL BERL BEnL BEnL BERL BERL Byl Byl BERL BERLl BERL
B i o R R 0.80 0.80 0. 80 0. 80 0.80 0.80 0. 80 0. 80 0. 80 0.80 0. 80 0.80 0. 80
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1 i i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 5 i ¥ TR Tt R T T ERid T T R T ENi 3 T TR —
slp r v ARz 0k E < 0. 0003 0. 0003 < 0. 0003 < 0. 0003 0.0003 me/0
1 N A A 0. 00005 0.00005 me/@
5« v v R v E ook a M 0. 001 0.001 me/@
6lth B = o L & B 0. 001 0.001 me/0
Ne FROZ 0k ED 0. 001 0.001 me/0
E] AN A = SN (A= ] 0.001 0.001 we/@
o|iE fH EE BB = H|< 0. 004 0. 004 < 0. 004 0. 004 0.004 mg/0
100y 7 v fe 4 v R o Gy T o< 0.001 0. 001 < 0. 001 0. 001 0.001 me/@
LI ST I 0.29 0.28 0.20 0. 30 0.31 0.32 0.33 0.28 0.15 0.16 0. 17 0.19 0.25 me/0
1217 v 2R v o ka B 0.08 0.08 mg/0
BlErzrrez o wemn 0.02 0.02 me/0
Y [ (/R 7S S 0. 0002 0.0002 me/0
L, 4= 4 %4 v 0. 0005 0.0005 me/0
16 ‘/X)_/llz__l’z ) ER 0.001 <0001 < 0.001 0.001 me/¢
17| 7 v oa A & v 0.001 0.001 me/@
18F 7 s omoa oz Fovoy 0.001 0.001 me/@
9|FY 75w F L 0.001 0.001 me/@
20[~ B e B 0. 001 0.001 me/0
21t # e[ < 0. 060 0. 060 < 0. 060 < 0. 060 0.060 me/0
2207 = om EE O mE< 0. 002 0. 002 < 0. 002 < 0. 002 0.002 me/0
PR = = T 0. 005 0. 007 0. 008 0.011 0.008 me/0
24y 27 =m =m B B 0. 003 0. 004 0. 004 0. 005 0.004 mg/0
25y 7w r g a e gy < 0. 001 0.001 < 0. 001 < 0. 001 0.001 me/0
265 # i < 0.001 0.001 < 0.001 < 0.001 0.001 me/0
27l b ) o~ m 4y 0. 007 0. 009 0.011 0.014 0.010 me/0
28[F V2 v om E o 0. 004 0. 006 0.007 0. 009 0.007 me/0
2007 rry e p gy 0. 002 0. 002 0. 003 0. 003 0.003 mg/0
07 = = & o 2< 0.001 0. 001 < 0. 001 < 0. 001 0.001 me/0
i v o7 o F o K< 0. 004 0. 004 < 0. 004 < 0. 004 0.004 me/0
20 kK E o E&? 0.01 0.01 me/0
BTVI=YLR B Z D E] 0.013 0.023 0. 021 0. 022 0.020 me/0
U K = o & A& p< 0.01 0.12 0. 02 0. 06 0.05 me/0
3Bl K Bz ok E&? 0. 001 0.001 me/0
36[F M)LK T ZE O E B 6.14 6.14 me/0
J7frvr v R Z oA D 0.001 0.001 me/0
3Bl b w4 A v 9.0 7.8 7.1 7.5 7.4 8.1 7.7 7.9 7.2 7.6 7.3 7.4 7.7 neg/0
39[hwyya vrryaEE (B 25.8 25.8 me/0
40| = 2 # 70 70 me/0
Al o 4 v R OEIE A 0. 02 0.02 me/0
5] VS S S 0.000001|< 0.000001[< 0.000001(<  0.000001 0.000001 mg/0
3le-r g w v ad - 0.000001{<  0.000001[< 0.000001[< 0.000001 0.000001 mg/0
4409 4 A& v RO IE P A< 0. 005 0. 005 < 0. 005 < 0. 005 0.005 me/0
457 = — v # 0. 0005 0.0005 mg/0
46[6 Mé L} % 0.7 0.8 0.7 0.7 0.8 0.8 0.8 1.1 1.1 1.0 1.0 0.8 0.9 meg/0
47 PHf 7.4 7.5 7.4 7.5 7.5 7.5 7.6 7.5 7.5 7.5 7.4 7.4 7.5 —
48 LS BERL BERL BERL BERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl RERL R Rl R BERL WieL wWigL BEaL Bl RiERL B WL
50(ea i3 1 0 0 0 0 0 0 1 1 1 0 0 0 P
51[# < 0.1 0.1 0.1 0.1f< 0.1f< 0.1[< 0.1 0.1 0. 1]< 0.1 0.1 0.1 0.1 JE
Vi = iy # 0.48 0.48 0. 50 0.26 0.30 0.26 0.51 0.30 0.35 0.42 0.43 0. 50 0. 40
5 =) BERL Rl REmL BEaL Bl RimL Bl Rl RiERL Rl RiEmL BERLl BRERL
; "o Byl BERL BEnL BERL BEnL BEnL BERL BERL BEnL Bl BEnL BELl BE¥ERL
B R R 0.59 0.59 0. 56 0.54 0.49 0.47 0.57 0.53 0. 67 0.63 0.61 0.57 0.57
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1 % i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 17 ) L TR Tt R T T ERid T T R T ENi 3 T TR —
3lp F v LRz Ok G N < 0. 0003 0. 0003 0. 0003 < 0.0003 0.0003 mg/@
k m ok o2 oo & 0. 00005 0.00005 me/@
5t vy R vz ook E Y 0. 001 0.001 me/@
6lth B = o b & B 0. 001 0.001 mg/0
Ne RO E0lkED 0. 001 0.001 mg/0
8| fli 7 v A fL & W 0. 001 0.001 we/@
9|HE f§ EE BB = & < 0. 004 0. 004 0.004 < 0.004 0.004 mg/0
10y 7 v fe o 4 4 v R G ALY T < 0. 001 0. 001 0. 001 < 0.001 0.001 mg/0
LI I T I 0.28 0.27 0.19 0. 30 0.31 0.32 0. 34 0.23 0.16 0.16 0. 17 0.18 0.24 me/0
127 v 2= xR v o kamn 0.08 0.08 mg/0
13l v 2R v o wamn 0.02 0.02 mg/0
[T IR A 7 3 0. 0002 0.0002 me/0
|1, 4— Y4 %% 0. 0005 0.0005 me/0
16 ;i'/llz_‘lfz Z‘f”ﬁfi,}f‘f{j < 0. 001 0.001 0.001 < 0.001 0.001 mg/0
17|y 7 vom x x v 0. 001 0.001 me/0
BF b7 sz FoL oY 0. 001 0.001 me/@
9|FY 705 L 0. 001 0.001 me/@
20[~ v + > 0.001 0.001 mg/0
21| # ) < 0. 060 0. 060 0. 060 < 0. 060 0.060 mg/0
2217w ow  E O < 0. 002 0. 002 0. 002 < 0. 002 0.002 mg/0
23|17 wm owm kv A 0. 007 0. 005 0. 009 0. 004 0.006 me/0
uly 2 v om m O 0. 004 0. 002 0. 006 0. 002 0.004 me/0
25y 7w x e e p gy < 0. 001 0. 001 0. 001 < 0. 001 0.001 mg/0
26[5 # [ < 0. 001 0. 001 0. 001 < 0.001 0.001 mg/0
P4 £ S T N R 0. 009 0. 007 0.011 0. 005 0.008 me/0
28|V s m owm B O 0. 006 0. 003 0. 009 0. 003 0.005 me/0
200 " rry e p sy 0. 002 0. 002 0. 002 0. 001 0.002 me/0
307 wm ® kK o A < 0. 001 0. 001 0.001 < 0. 001 0.001 mg/0
ifx v & 7 v F e K < 0. 004 0. 004 0. 004 < 0. 004 0.004 mg/0
2w 4w ko as? 0. 01 0.01 me/0
BT VIR B Z DL EM 0. 052 0. 020 0. 029 0.016 0.029 me/0
U K Bz ok E&E? < 0.01 0. 01 0.01 < 0.01 0.01 mg/0
3Bl K Bz ok E&? 0. 001 0.001 me/0
36[F LT AR O ZE 0GB 6.18 6.18 me/0
J7frvr v R ZE O E Y 0. 001 0.001 me/0
3Bl b w4 A v 8.2 9.8 6.8 7.2 7.2 8.0 7.7 7.8 7.2 7.4 7.0 7.3 7.6 me/0
39[hvyah TRy () 32.2 32.2 me/0
40| ¥ Ik 2 @ 71 71 me/0
41| o« A v FOE g A 0.02 0.02 me/0
o2 7 = b 21y < 0.000001|< 0.000001 0.000001[< 0. 000001 0.000001 me/0
a3le- 2 vy m v xd - < 0.000001|<  0.000001 0.000001[< 0. 000001 0. 000001 mg/0
44l 4 & v R omE A < 0. 005 0. 005 0. 005 < 0. 005 0.005 mg/0
457 = s - o H 0. 0005 0.0005 meg/0
46[6 1& L} % 0.8 0.7 0.8 0.8 0.8 0.9 0.9 1.1 1.1 1.0 1.0 0.8 0.9 meg/0
47 PHf 7.4 7.5 7.4 7.5 7.4 7.5 7.5 7.5 7.5 7.4 7.4 7.5 7.5 —
48 LS BERL BERL BERL RERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl Rl R Bl R BERL WL WipL BEaL Bl R B wis L
50(& | 0 0 0 0 0 0 1 0 0 0 0 0 0 I
51(# | 0.1 0.1[< 0.1[< 0.1f< 0.1 0.1 0.1 0.1 0.1 0.1 0.2|< 0.1 0.1 JE
Vi = iy # 0.73 0.68 0.63 0.62 0. 69 0.72 0.68 0.66 0.71 0.74 0.77 0.76 0.70
5 =) BERL REmL REmL BiEmL Bl RimL Bl Rl RiERL Rl RiEmL BERLl BRERL
; "o Byl BERL BEnL BERL BEnL BEnL BERL BERL BEnL Byl BEnL BERLl BE¥ERL
B mommns s 0. 80 0.80 0. 80 0. 80 0.80 0.80 0.80 0.80 0.80 0. 80 0. 80 0. 80 0. 80
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1 % i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 17 ] L TR Tt R T T ERid T T R T ENi 3 T TR —
lp F v LRz OGN < 0. 0003 < 0. 0003 0. 0003 < 0. 0003 0.0003 meg/0
Ak m R o2 oo & < 0.00005 0.00005 me/@
5t v v R vz ook E Y < 0. 001 0.001 me/@
6lth B & o L & B < 0. 001 0.001 mg/0
Ne RO Z20lkEd < 0. 001 0.001 mg/0
8| i 7 v A fL & W < 0. 001 0.001 mg/0
o|HE i EE BB = & < 0. 004 < 0. 004 0.004 < 0.004 0.004 mg/0
100y 7 v fe o 4 4 v R G Y T < 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
L1 B & % R O BB R 0.30 0.28 0.22 0. 30 0.31 0.33 0.33 0.31 0.15 0.17 0.17 0.18 0.25 me/0
127 v 2R v o kaw < 0.08 0.08 mg/0
13l v 2R v E o kam < 0.02 0.02 mg/0
[T IR A 7 3 < 0. 0002 0.0002 me/0
|1, 4— v 4 %% < 0. 0005 0.0005 me/0
16 ;i'/llz_‘lfz Z‘f”ﬁfi,}f‘f{j < 0. 001 < 0001 0.001 < 0.001 0.001 mg/0
17|y 7 mvom oz x v < 0. 001 0.001 me/0
187 b7 s s e 1 F oLy < 0. 001 0.001 me/0
9|FY 7005 L < 0. 001 0.001 me/@
20[~ v 4 v < 0. 001 0.001 me/0
21| # [id < 0. 060 < 0. 060 0. 060 < 0. 060 0.060 mg/0
2217 mowm E O < 0. 002 < 0. 002 0. 002 < 0. 002 0.002 mg/0
287 v o8 ok & 0. 009 0.010 0.012 0. 008 0.010 me/Q
ulvy 2 v om m O 0. 005 0. 006 0. 007 0. 004 0.006 me/0
25y "7 v x e p gy < 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
26[5 # [ < 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
X4 £ S R N R 0.011 0.013 0.015 0.010 0.012 me/0
28|k UV s m o wm B O 0. 007 0. 007 0.011 0.007 0.008 me/0
200 " rry T e p sy 0. 002 0. 003 0. 003 0. 002 0.003 me/0
307 wm ® kK o A < 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
ifx v & 7 v F e K < 0. 004 < 0. 004 0. 004 < 0. 004 0.004 mg/0
2w s ko Es? < 0. 01 0.01 me/0
BTV R B Z D EY 0.019 0.018 0.026 0.017 0.020 meg/0
g k2 o L & ? < 0.01 < 0. 01 0.01 < 0.01 0.01 mg/0
Bl ko kb B 0. 005 0. 005 mg/0
BlF L1 Ts RO ZE O E D 6.17 6.17 me/0
J7frvr v R ZE O E Y < 0. 001 0.001 me/0
Bl b w4 A v 9,3 7.8 7.0 7.3 7.5 8.1 7.8 7.9 7.1 8.1 7.0 7.2 7.5 me/0
39[hwy s v Ry (BEE) 32.4 32.4 neg/0
40|% ¥ Ik 2 @ 71 71 me/0
Al o 4 v RO E A < 0. 02 0.02 me/0
2 7 = b 21y < 0.000001|< 0.000001{< 0.000001(< 0.000001 0.000001 me/0
4312 4 F VAT KT W kA =M < 0.000001|< 0.000001]< 0.000001[< 0.000001 0.000001 mg/0
44l 4 4 v R omoE A < 0. 005 < 0. 005 0. 005 < 0. 005 0.005 mg/0
457 = s - o # < 0. 0005 0.0005 meg/0
46[6 ] ) % 0.7 0.8 0.7 0.8 0.8 0.8 0.9 0.9 1.1 1.0 1.0 0.8 0.9 meg/0
47 PHIE 7.2 7.3 7.2 7.1 7.5 7.3 7.3 7.3 7.4 7.2 7.2 7.4 7.3 —
48 LS BERL BERL BERL RERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl Rl R Bl R BERL WL RiEmL BEaL Bl R B wis L
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51(# | 0.1 0.1[< 0.1[< 0.1f< 0.1f< 0.1[< 0.1 0.1 0.1 0.1 0.1f< 0.1 0.1 JE
Vi = iy # 0. 67 0.58 0. 46 0.52 0.45 0.54 0.55 0. 60 0.55 0.58 0. 67 0.56
5 =) BERL REmL REmL BiEmL Bl RimL Bl Rl RiERL Rl RiEmL BERLl BRERL
; "o Byl BERL BEnL BERL BEnL BEnL BERL BERL BEnL Byl BEnL BERLl BE¥ERL
B mommns s 0.52 0.52 0.53 0.51 0.52 0.52 0.52 0.52 0.52 0.53 0.52 0. 50 0.52
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1 i i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 5 i ¥ TR Tt R T T ERid T T R T ENi 3 T TR —
lp kv ARz 0k E < 0. 0003 < 0. 0003 < 0. 0003 < 0. 0003 0.0003 me/0
4 m R 2 o & B < 0. 00005 0.00005 mg/0
5l v v R B0 & Y < 0. 001 0.001 me/@
6lth B = o L & B < 0. 001 0.001 me/0
e FR Gz ok EY < 0. 001 0.001 me/0
E] AN A = SN (A= ] < 0.001 0.001 we/@
o|iE fH EE BB = H|< 0. 004 < 0. 004 < 0. 004 < 0. 004 0.004 mg/0
IO ARE R EERD SIS ¥ TRE K 0.001 < 0.001 < 0.001 < 0.001 0.001 me/0
LI ST I 0.30 0.28 0.21 0.31 0.31 0.33 0.33 0.32 0.15 0.17 0. 17 0.19 0.26 me/0
1207 v # R v 2 0 k&Y < 0.08 0.08 me/0
Bls v 2 kv zowkamn < 0. 02 0.02 mg/0
Y[ IS (A 7S < 0. 0002 0.0002 me/0
L, 4= 4 %4 v < 0. 0005 0.0005 me/0
16 ‘/X)_/lf__l’z ) ER <0001 <0001 < 0.001 0.001 me/¢
17|y 7 o aom oz x v < 0. 001 0.001 me/0
8F 7 s omoa oz Fovoy < 0.001 0.001 me/@
9|FY 755 L < 0.001 0.001 me/@
20[~ v + v < 0. 001 0.001 me/0
21t # e[ < 0. 060 < 0. 060 < 0. 060 < 0. 060 0.060 me/0
2207 = om EE O mE< 0. 002 < 0. 002 < 0. 002 < 0. 002 0.002 me/0
2317 moowm kv L 0. 006 0.007 0.016 0.015 0.011 me/0
24|y s 9w o w O 0. 004 0. 004 < 0.002 0. 007 0.004 me/0
25y 7w x g m gy Y< 0. 001 < 0. 001 < 0. 001 < 0. 001 0.001 me/0
265 # i) < 0.001 < 0.001 < 0.001 < 0.001 0.001 me/0
27l b ) o~ m 4y 0. 009 0. 009 0. 020 0.019 0.014 me/0
28[F V2 v om E o 0. 005 0. 005 0.010 0.011 0.008 me/0
200 rry e pgy 0. 003 0. 002 0. 004 0. 004 0.003 mg/0
07 = = & A 2l< 0.001 < 0. 001 < 0. 001 < 0. 001 0.001 mg/0
31k v & T v F e K< 0. 004 < 0. 004 < 0. 004 < 0. 004 0.004 me/0
RlE s x vz orwaem < 0.01 0.01 me/0
BFVI=YLR B Z D ED 0.011 0. 024 0.016 0.013 0.016 me/0
U K = o & A& #< 0.01 < 0.01 < 0. 01 < 0.01 0.01 me/0
3Bl K = ok E&? 0. 006 0.006 meg/0
36[F M)LK O ZE O E B 5.72 5.72 me/0
3T|vvh Ty kB Z oL B < 0.001 0.001 me/0
Bl b w4 A v 9.4 7.8 7.1 7.4 7.4 8.0 7.7 7.9 7.3 7.6 7.6 7.2 7.7 me/0
39[hayih TRy () 315 315 me/0
40| ¥ % = ] 72 72 me/0
Al o o4 v R omEIE A < 0.02 0.02 me/0
2 = o oz 1v < 0.000001|< 0.000001{< 0.000001[<  0.000001 0.000001 me/0
Ble-r g s x vad - < 0.000001|< 0.000001]< 0.000001[<  0.000001 0.000001 mg/0
4409 A A v RO IE A< 0. 005 < 0. 005 < 0. 005 < 0. 005 0.005 me/0
457 = s - o #H < 0. 0005 0.0005 meg/0
46[6 1% L} % 0.8 0.8 0.7 0.7 0.8 0.8 0.8 0.9 1.1 1.0 1.0 0.9 0.9 meg/0
47 PHf 7.3 7.4 7.4 7.4 7.2 7.4 7.3 7.3 7.4 7.3 7.3 7.4 7.3 —
48 LS BERL BERL BERL RERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl RiEmL R Bl R BERL Rl RiEmL BEaL Bl RERL B wis L
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51[% < 0.1 0.1 0.1)< 0.1]< 0. 1)< 0. 1)< 0.1 0.1 0.1]< 0.1 0.1 0.1 0.1 JE
Vi3 4 oo # 0. 60 0.55 0. 47 0. 44 0. 40 0. 44 0.20 0.26 0.23 0.46 0.51 0.55 0.43
5 =) BERL Rl REmL Bl Bl RiRL Bl Rl RiERL Rl RiEmL BERLl BRERL
; "o Byl BERL BEieL LE L BEnL BEnL BERL BERL BEnL Byl BEnL BEnLl BEeL
B i o R GRS 0.54 0.51 0.48 0.65 0.61 0.41 0.34 0.23 0. 62 0.79 0. 80 0.73 0. 56
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1 % i [ 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 17 [ L TR Tt R T T ERid T T R T ENi 3 T TR —
lp kv LRz O LG N < 0. 0003 < 0. 0003 0. 0003 < 0.0003 0.0003 mg/@
ik mox v oz o & B < 0. 00005 0.00005 mg/0
5lt vy R E o E D < 0.001 0.001 mg/0
6lth B &= o b & B < 0. 001 0.001 mg/0
Ne FROZ0lkED < 0. 001 0.001 mg/0
8| i 7 v A fb & W < 0. 001 0.001 mg/0
o|HE Y HE BB = & < 0. 004 < 0. 004 0.004 < 0.004 0.004 mg/0
100y 7 v fe 4 4 v R G Y T < 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
I SIS T I 0.29 0.28 0.21 0. 30 0.32 0.33 0.33 0.28 0.16 0.17 0.17 0.18 0.25 me/0
IVIEEEIE I < 0.08 0.08 me/0
Bls v 2 xvzokamn < 0.02 < 0.02 0.02 me/0
[T IR A 7 3 < 0. 0002 0.0002 me/0
|1, 4— v 4 %% < 0. 0005 0.0005 me/0
16 ]/X;/lxz—_l/z Z‘f”ﬁfi,}f‘f{j < 0. 001 < 0001 0.001 < 0.001 0.001 mg/0
17|y 7 v oa A & v < 0. 001 0.001 me/@
18F » 7y oee oz FoLy < 0. 001 0.001 me/0
9|FY) 7005 L < 0. 001 0.001 me/@
20(~ v (<4 v < 0. 001 0.001 me/@
21| # [id < 0. 060 < 0. 060 0. 060 < 0. 060 0.060 mg/0
2217w owm E O < 0. 002 < 0. 002 0. 002 < 0. 002 0.002 mg/0
287 v o2 ok oA & 0. 009 0.010 0.013 0. 006 0.010 me/Q
uly 2 v om oEm O 0. 005 0. 005 0. 007 0. 003 0.005 me/0
25y "7 v x e e p gy < 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
26[5 # [ < 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
Y4 £ S R N N 0.011 0.013 0.016 0. 008 0.012 me/0
28|k UV s m o wm B O 0. 007 0. 007 0.012 0. 005 0.008 me/0
2007 v ry T e p sy 0. 002 0. 003 0. 003 0. 002 0.003 me/0
307 wm ® Ak o A < 0. 001 < 0. 001 0.001 < 0. 001 0.001 mg/0
ifx v & 7 v F e K < 0. 004 < 0. 004 0. 004 < 0. 004 0.004 mg/0
20 i kO 0k &EY < 0.01 0.01 me/0
BTV R B Z D EY 0. 029 0. 022 0. 025 0.014 0.023 me/0
U K Bz o k& ? < 0.01 < 0. 01 0.01 < 0.01 0.01 mg/0
3Bl K Bz ok E&? 0. 003 0.003 me/0
BlF LV Ts RO ZE O E B 5.51 5.51 me/0
J7frvr v R ZE O E Y < 0.001 0.001 me/0
Bl b w4 A v 8.8 7.8 7.1 7.3 7.4 8.5 7.8 7.9 7.2 7.5 7.2 7.2 7.6 me/0
39[hwy s v Ry asE (B 23.8 23.8 me/0
40|% = 2 @ 70 70 me/0
sl o 4 v RO E A < 0. 02 0.02 me/0
2 7 = b 21y < 0.000001|< 0.000001{< 0.000001(< 0.000001 0.000001 me/0
4302 A F VAT R T W kA =M < 0.000001|< 0.000001]< 0.000001[<  0.000001 0.000001 mg/0
44l 4 4 v R omoE A < 0. 005 < 0. 005 0. 005 < 0. 005 0.005 mg/0
457 = s - o # < 0. 0005 0.0005 meg/0
46[6 1& ) % 0.8 0.8 0.7 0.7 0.8 0.8 0.9 1.0 1.1 1.0 1.0 0.8 0.9 meg/0
47 PHIE 7.4 7.5 7.5 7.5 7.5 7.6 7.6 7.5 7.5 7.5 7.4 7.4 7.5 —
48 LS BERL BERL BERL RERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl Rl R Bl R BERL WL WipL BEaL Bl R B wis L
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51[# | 0.1[< 0.1[< 0.1[< 0.1f< 0.1f< 0.1[< 0.1 0.1 0.1 0.1 0.1f< 0.1 0.1 JE
Vi = iy # 0. 66 0.54 0.51 0.43 0. 44 0.52 0.53 0.44 0.58 0.58 0.62 0.70 0.55
5 =) BERL REmL REmL BiEmL Bl RimL Bl Rl RiERL Rl RiEmL BERLl BRERL
’Eﬁ "o Byl BERL BEieL LE L BEnL BEnL BERL BERL BEnL Byl BEnL BEnLl BEeL
B moRmne GEE 0.75 0.67 0.61 0.65 0.68 0.65 0.63 0.58 0.80 0.81 0.80 0.70 0. 69
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1 i i [ 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES 17 [ L TR Tt R T T ERid T T R T ENi 3 T TR —
lp kv LRz O LG N 0. 0003 < 0. 0003 0. 0003 < 0. 0003 0.0003 meg/0
s ® B vz 0 o6 o 0. 00005 0. 00005 me/0
5lt vy R E o E D 0.001 0.001 mg/0
6lth B &= o b & B 0. 001 0.001 mg/0
Ne F RO E0lkED 0. 001 0.001 mg/0
8| i 7 v A fb & W 0. 001 0.001 mg/0
o|iE f§ EE BB = & 0. 004 < 0. 004 0.004 < 0.004 0.004 mg/0
10 7 v e (v R o Ly T 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
L1 B & % R O E BB R 0.29 0.28 0.21 0. 30 0.31 0.33 0.33 0.33 0.16 0.17 0.17 0.19 0.26 me/0
IVIEEEIE I 0. 08 0.08 me/0
Bls v 2 xvzokamn 0.02 < 0.02 0.02 me/0
[T IR A 7 3 0. 0002 0.0002 me/0
|1, 4— v 4 %% 0. 0005 0.0005 me/0
16 ]/X;/lxz—_l/z Z‘f”;:fi?ff 0. 001 < 0001 0.001 < 0.001 0.001 mg/0
17|y 7 v oa A & v 0. 001 0.001 me/@
18F » 3y oee oz F oLy 0. 001 0.001 me/0
9|FY) 7 5= F L 0. 001 0.001 me/@
20(~ v (<4 v 0. 001 0.001 me/@
21t # ) 0. 060 < 0. 060 0. 060 < 0. 060 0.060 mg/0
2217w owm E O 0. 002 < 0. 002 0. 002 < 0. 002 0.002 mg/0
287 v o2 ok oA & 0.011 0.014 0.016 0. 008 0.012 me/0
ulvy 2 v om oE@ O 0. 007 0.014 0. 003 0. 005 0.007 me/Q
25y "7 v x e e p gy 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
26[5 # [ 0. 001 < 0. 001 0. 001 < 0.001 0.001 mg/0
Y4 £ S R N N 0.014 0.018 0. 020 0.010 0.016 me/0
28|V s m owm B O 0.010 0. 009 0.015 0. 008 0.011 me/0
2007 v ry T e p sy 0. 003 0. 004 0. 004 0. 002 0.003 me/0
307 wm ® Ak o A 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
ifx v & 7 v F e K 0. 004 < 0. 004 0. 004 < 0. 004 0.004 mg/0
20 i kO 0k &EY 0.01 0.01 me/0
BTV R B Z D EY 0. 030 0.019 0. 025 0.014 0.022 me/0
U K Bz o k& ? 0.01 < 0. 01 0.01 < 0.01 0.01 mg/0
Bl ko k& B 0. 004 0.004 me/0
BlF L1 Ts RO ZE O E D 5. 68 5.68 me/0
J7frvr v R ZE O E Y 0.001 0.001 me/0
3Bl b w4 A v 9.4 7.9 7.2 7.4 7.5 8.3 7.8 8.2 7.3 7.7 7.4 7.5 7.8 me/0
30[hwy s v Ry asE () 24.2 24.2 me/0
40|% = 2 @ 61 61 me/0
Al o A v RO E A 0. 02 0.02 me/0
2 7 = b 21y < 0.000001|< 0.000001{< 0.000001(< 0.000001 0.000001 me/0
4302 A F VAT R T W kA =M < 0.000001|< 0.000001]< 0.000001[<  0.000001 0.000001 mg/0
44l 4 4 v R omoE A 0. 005 < 0. 005 0. 005 < 0. 005 0.005 mg/0
457 = s - o # 0. 0005 0.0005 meg/0
46[6 1& ) % 0.8 0.8 0.7 0.7 0.8 0.8 0.8 0.9 1.1 1.0 1.0 0.9 0.9 meg/0
47 PHIE 7.4 7.6 7.5 7.6 7.5 7.6 7.6 7.6 7.5 7.5 7.4 7.5 7.5 —
48 LS BERL BERL BERL RERL RBERL BERL BERL BERL BERL BERL BERL BERLl BEARL -
49| % = Bl Rl R Bl R BERL WL RiEmL BEaL Bl R B wis L
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51[# | 0.1 0.1 0.1[< 0.1f< 0.1f< 0.1[< 0.1 0.1 0.1 0.1 0.1f< 0.1 0.1 JE
Vi = iy # 0.54 0.48 0. 40 0.38 0.35 0.43 0.36 0.32 0.30 0. 49 0.51 0.63 0.43
5 =) BERL REmL REmL BiEmL Bl RimL Bl Rl RiERL Rl RiEmL BERLl BRERL
’Eﬁ "o Byl BERL BEnL BERL BEnL BEnL BERL BERL BEnL Byl BEnL BERLl BE¥ERL
L - 0. 65 0.55 0.48 0. 40 0.33 0. 27 0.33 0.23 0.43 0. 60 0. 60 0.57 0.45
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1 i i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {8/me
P1ES ] i ¥ TR Tt R T T ERid T T R T ENi 3 T TR —
lp kv LRz O LG B 0. 0003 < 0. 0003 0. 0003 < 0. 0003 0.0003 meg/0
A r m R o2 o & 9 < 0.00005 0.00005 me/@
5t vy Rz oA Y < 0.001 0.001 mg/0
6lth B = o L & B < 0. 001 0.001 meg/0
Ne FROZ DL ED < 0. 001 0.001 meg/0
8| fli 7 v AL & W < 0. 001 0.001 we/@
o|#E f§ EE BB = & 0. 004 < 0. 004 0. 004 < 0. 004 0.004 me/@
100y 7 v fe 4 v R TR A Y T 0. 001 < 0. 001 0. 001 < 0. 001 0.001 me/¢
LI ST I 0.30 0.03 0.21 0.30 0.31 0.32 0.33 0.32 0.15 0.17 0.17 0.19 0.23 me/0
1217 v # R0 2 0 E B < 0.08 0.08 me/0
1Blx v %R vz owaep < 0.02 0.02 me/0
[T IER A (A 7 3 < 0. 0002 0.0002 me/0
L, 4= 4 %% v < 0. 0005 0.0005 me/0
16 ‘/X)'/llz__l’z Z”:”;:K?ff 0.001 < 0.001 0.001 < 0.001 0.001 me/0
17| 7 v oa A v < 0. 001 0.001 me/0
8F 7 s omoe oz FoVoy < 0. 001 0.001 me/@
9PV 7 e =T L < 0. 001 0.001 me/0
20]~ > + > < 0. 001 0.001 me/0
214 # i 0. 060 < 0. 060 0. 060 < 0. 060 0.060 me/0
22|17 mowm E 0. 002 < 0. 002 0. 002 < 0. 002 0.002 mg/0
PR] = = T 0. 009 0.015 0.015 0.014 0.013 me/0
uly 2 o= om o om 0. 006 < 0. 002 0. 002 0. 007 0.004 me/0
25y 7w E s a gy 0. 001 < 0. 001 0.001 < 0. 001 0.001 me/0
26[5 # i 0. 001 < 0. 001 0. 001 < 0. 001 0.001 me/0
27l b ) o~ m 4y 0.012 0.019 0.019 0.017 0.017 me/0
28|k UV s m owm B O 0. 007 0. 008 0.010 0.011 0.009 me/0
2907 e ry e p gy 0. 003 0. 004 0. 004 0. 003 0.004 me/0
07 = = & A 2 0. 001 < 0. 001 0. 001 < 0. 001 0.001 mg/0
31k v & T v F e K 0. 004 < 0. 004 0. 004 < 0. 004 0.004 mg/0
2w kv zx okas? < 0. 01 0.01 me/0
BTVI=YLR B Z D ED 0.018 0. 021 0.015 0.012 0.017 mg/0
U K Bz o k& ? 0.02 0. 06 0.03 0. 02 0.03 mg/0
3Bl K Bz ok E? 0. 008 0.008 mg/0
36[F M)LK O Z O G B 6.08 6.08 me/0
vy v R Z O E D 0.001 0.001 me/0
38| b w4 A v 9.2 8.0 7.2 7.4 7.5 8.2 7.8 7.9 7.4 7.8 7.3 7.4 7.8 me/0
39[hwyya vrryasE (BEE) 30.6 30.6 me/0
40|% ¥ %k B 0B 63 63 me/0
Al o 4 v RO IE A < 0. 02 0.02 me/0
%] V2T T S S < 0.000001|< 0.000001{< 0.000001[< 0.000001 0.000001 me/0
432 A F WA DR Wk =M < 0.000001|< 0.000001{< 0.000001[<  0.000001 0.000001 mg/0
44l 4 A v R omoE A 0. 005 < 0. 005 0. 005 < 0. 005 0.005 me/0
457 = s - o #H < 0. 0005 0.0005 mg/0
46[6 Mé L} % 0.8 0.8 0.7 0.7 0.8 0.8 0.8 0.9 1.1 1.0 1.0 0.9 0.9 meg/0
47 PHE 7.4 7.5 7.5 7.5 7.4 7.5 7.5 7.5 7.4 7.5 7.4 7.5 7.5 —
48 LS BEL BERL BERL RERL BERL BERL BERL BERL BERL BERL BERL BEieLl BEARL —
49| % = BEiL RERL R Bl RERL R WL WigL BERL Bl RiERL B wis L
50(& | 0 0 0 0 0 0 0 0 0 0 0 0 0 I
51[# | 0.1 0.1 0.1[< 0.1f< 0.1f< 0.1[< 0.1 0.1 0.1 0.1< 0.1 0.1 0.1 JIE
Vi B iy # 0.52 0.43 0.35 0.35 0.19 0.20 0.20 0.28 0.18 0.39 0. 46 0.53 0.34
5 =) BERL Rl REmL Bl Bl R Bl Rl RERL R RiEmL BERL| BRERL
; "o Byl BERL BEnL BERL BEnL BEnL BERL BERL BEnL Byl BEnL BERLl BERL
B moRane GREhR) 0. 50 0.49 0.41 0.34 0.24 0.21 0.30 0.24 0. 42 0.50 0. 50 0.46 0.38




